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HANDOUTS FOR CHAPTER ONE


HANDOUT 1-1
Christy Jones wanted to start a computer company. Her business was started on September 23, 1992.  The following events then happened:

1.
Initial Investment.  Christy invested $100,000 cash into the business.

2.
Loan from bank.  On Sept. 24, she obtained $300,000 from her local banker, David Hall, by signing a promissory note.

3.
On Sept. 25, she purchased computers from a manufacture for $100,000 cash.

4.
On Sept. 26, Christy purchased an additional computer for $20,000 from a manufacture.  However the payment for these computers are not due until October.

5.
On Sept. 27, Christy buys office furniture for a total of $10,000.  She makes a cash down payment of $5,000.  The remaining balance must be paid within ninety days.

6.
On Sept. 28, Christy decides she does not like one of the chairs she purchased in transaction 5 above.  She sells it to Jim Bob for $2,000 which happens to equal its cost.  Jim Bob agrees to pay for it in October.

7.
On Sept. 28, Christy pays $10,000 to the manufactures from transaction 4 above.

8.
On Sept. 30, Christy collects $1,000 of the $2,000 owed by Jim Bob's purchase in transaction 6.

Required:

A.
Analyze the transactions.

B.
Prepare a Balance Sheet for September 30, 1992.

Objective of this handout:
To introduce the analysis of several transactions which have an impact on the balance sheet equation and the demonstration of the preparation of a balance sheet.


SOLUTIONS TO HANDOUT 1-1
ASSETS







LIABILITIES    +   OWNERS EQUITY

__________________________________________________________________________________

DESCRIPTION OF

Cash

+
Accounts
+
Inv.
+
Furn.  =
Note.  +
 Accts.
+
Jones

TRANSACTION




  Rec.





Pay.

 Pay.

Capital

1.
Initial

 100














$100

Investment

2.
Bank Loan

 300









300

3.
Purchase

-100





 100

Inventory

4.
Purchase







  20





 20

Inventory

5.
Purchase

-  5





  

 10



  5

Furniture

6.
Sales

   


   2




- 2

Furniture

7.
Payment to 
- 10











-10

Creditors

8.
Collects from
   1


 - 1

Debtors

|_______________________________________________| |______________________________________|

 286


   1


120

 8

300

 15


 100



SOLUTION TO HANDOUT 1-1

CHRISTY JONES COMPUTER


BALANCE SHEET AS OF SEPTEMBER 30, 1992

ASSETS




LIABILITIES AND OWNER'S EQUITY

Cash



$286,000



Notes Payable


$300,000

Accounts

  Rec.

   

1,000



Accts Payable


  15,000

Inventory


 120,000



Jones, Capital


 100,000
Furniture


   8,000











Total Liabilities

Total Assets


$415,000



and Owner's Equity

$415,000

HANDOUTS FOR CHAPTER TWO


HANDOUT 2-1

This handout is a continuation of Handout 1-1.  Remember Handout 1-1 covered transaction occurring during September 1992.  A corporate organization is assumed instead of a sole proprietorship.  Owner's Equity is no longer Christy Jones, Capital.  The following additional transactions occurred in October of 1992.

9.
On October 1, Christy sold computer inventory for $50,000 cash.  The cost of the inventory was $10,000.

10.
On October 1, Christy paid five months of rent in advance.  Monthly rent is $2,000.

11.
On October 31, Christy recognized depreciation on the $8,000 of furniture.  The depreciation for October is $1,000.

Required:

A.
Analyze the transactions

B.
Prepare an income statement and balance sheet for October 31, 1992.
Objective:
Continue using the balance sheet equations to analyze transactions that have an impact on net income and the preparation of an income statement and balance sheet.

SOLUTIONS HANDOUT 2-1




ASSETS


  =    LIABILITIES    +   

STOCKHOLDERS













  


EQUITY

   ___________________________________________
_
__________________ 

_______________

DESCRIPTION OF    Cash
+ Accounts + Inv. + Prepaid + Furn.  =
Note.  +
Accts.
+   Paid in  + Retained

TRANSACTION

  
    Rec.


Rent



Pay.
 
Pay.
      
Cap

Income

Balance, Sept.
   
286

 1
   120


  8
=
300
 
15
     
100


____________________________________________________________________________________________________________

9a.  Sales
  
  50












      

50

9b.
Cost of



  
   -10








    


-10

Inv. sold

10a  Prepay 

- 10




 10

Five Months

Rent

10b.
Recognize






- 2









  
-2



One Months

Rent Expense

11.
Recognize








-1





   


- 1

Depr. Expense

_____________________________________________________________________________________________________________

  326

1
  110      8

 7
=
300
  
  15
 

100
   
  37


SOLUTION HANDOUT 2-1


CHRISTY JONES, INC.


INCOME STATEMENT


FOR THE MONTH ENDED


OCTOBER 31, 1992

Sales






$50,000

Deduct Expenses:

  Cost of Goods Sold

$10,000

  Rent Expense



2,000

  Depr. Expense


  1,000

    13,000
Net Income





$37,000

CHRISTY JONES, INC.


BALANCE SHEET


OCTOBER 31, 1992


ASSETS

LIABILITIES & STOCKHOLDERS' EQUITY

Cash

$326,000

Liabilities:

A/R


1,000

  Note Payable


$300,000

Inv.


110,000

  Accounts Payable

     15,000

$315,000


Prepaid Rent

8,000

Furn.


     7,000

Stockholders' Equity




  Paid in Capital

$100,000




  Ret. Inc.


    37,000

$137,000
Total

$452,000

Total





$452,000



HANDOUT 2-2
Scott started a new corporation called Scott's Camera, Inc.  The following events occurred:

1.
Scott invested $10,000 cash in the company.

2.
Scott borrowed $90,000 cash from his banker.

3.
Scott purchased inventory (cameras) for $50,000 cash.

4.
Scott sold the entire inventory for $20,000 cash.

Required:
Prepare an analysis of the transactions employing the balance sheet equation approach.

Objective:
To illustrate the concept of negative stockholders' equity section.


SOLUTIONS HANDOUT 2-2


ASSETS


=   
LIAB

+  
STOCKHOLDER'S








EQUITY

__________________________
________________________________________________

DESCRIPTION
CASH +  INVENTORY


=
NOTE
+
PIC
+ RETAINED

PAYABLE

    INCOME

_________________________________________________________________________________________________________

1.  INVEST
 10







10

CASH

2.  BORROWED 
 90





90

CASH

3.  PURCHASED
-50

 50

INVENTORY

4a. Sold inv.
 20







 

 20

4b. Cost of inv.

-50







-50

_________________________________________________________________________

Balance
 70
+
 0


=
 90
+     
10   +
-30

  













       |______________________|

Note: Stockholder's Equity equals 
-20,000.




HANDOUT 2-3

Assume ABC, Inc. after analyzing the transaction of the company had net income of $10,000 during February 1992, paid dividends of $2,000 during February 1992, had a retained income balance of $30,000 on January 31, 1992.

Required:
Prepare a statement of retained income for February, 1992.
Objective:
Illustrate the preparation of the Statement of Retained Income

SOLUTION TO HANDOUT 2-3

ABC, INC.


Statement of Retained Income


For the Month Ended February 28, 1992

Retained Income, January 31, 1992





$30,000

Net Income for February






 10,000
Total









$40,000

Dividends Declared







  2,000
Retained Income, February 28, 1992




$38,000

HANDOUT 2-4
Purchased one months office paper supplies for $5,000.

    ASSETS


=
LIAB

+        SE

_________________
 
  __________

________________


TRANSACTION

CASH +  PREPAID 

=



PIC  +  RETAINED

   SUPPLIES 





         INCOME

__________________________________________________________________________________

a.  Prepay for

-5

 5

supplies

b.  Use 




-5







 
-5 (supplies








expense)

Now record as one transaction

    supplies

    ASSETS


=
LIAB

+        SE

_________________
 
  __________

________________


TRANSACTION

CASH +  PREPAID 

=



PIC  +  RETAINED

   SUPPLIES 





         INCOME

__________________________________________________________________________________

a. & b.


-5










 -5 (supplies

  together













expenses)



HANDOUT 2-5

Assume the following occurred for XYZ Company:

The Board of Directors declared a $5,000 cash dividend on September 1, 1991 payable to stockholder's of record on September 30, 1991.  The dividend will be paid to those shareholders on October 31, 1991.

Required:
Prepare the entries for the above.

Objective:
Illustrate the balance sheet equation analysis for the payment of dividends.


Solution to Handout 2-5
Assets
=
Liab

+
Stockholder's

  Equity

_______
______

_____________

9/1




 5



-5

Div. 

Declared

10/31

Paid Div.

  -5

-5


HANDOUT 2-6
Bob's Groceries, Inc. had the following results:

1.
Net income was $50,000 for 1991.

2.
Average number of shares outstanding were 1,000.

3.
The market price per share of common stock on December 31, 1991 was $12.00.

4.
The company paid $2.00 per share common dividend during 1991.

Required:
Calculate the following ratio's:

1.
Earnings Per Share

2.
Price-Earnings Ratio

3.
Dividend-Yield Ratio

4.
Dividend-Payout Ratio

Objective:
Illustrate the calculation of various financial statement ratios


SOLUTION TO HANDOUT 2-4
1.
Net Income
=
$50,000
=
$50.00 per share

Avg. # of Sh.

1,000

2.
Mkt. Price per Sh.
=
$12.00
=
.24

EPS




$50.00

3.
Div per Sh.

=
$2.00

=
17.00%

Mkt. price per sh.

$12.00

4.
Div. per sh.

=
$2.00

=
4.0%

EPS




$50.00


HANDOUTS FOR CHAPTER THREE


HANDOUT 3-1
Robert Spurlin started a new company that would sell books.  The name of the company was Spurlin's Books, Inc.  The following took place during August of 1992:

1.
Invested $100,000 cash.

2.
Borrowed $300,000 cash from the bank by signing a promissory note.

3.
Spurlin acquired inventory (books) for $200,000 cash.

4.
Spurlin acquired inventory on credit for $20,000.

5.
Spurlin acquired store equipment for $5,000 cash plus $10,000 trade credit.

6.
Spurlin sold store equipment for $2,000 cash whose cost was also $2,000.

7.
Spurlin paid cash of $5,000 to his creditors.

8.
Spurlin sold inventory for $40,000 on credit.  The inventory cost was $5,000.

9.
Spurlin paid for six months rent in advance, $12,000.

10.
Spurlin recognized one months rent.

11.
Spurlin recognized one months of depreciation, $1000 (This amount was chosen at random.  Do not concern yourself with calculation of this number.  We will cover in a later chapter.).

Required:
Analyze the above transactions and prepare the income statement and balance sheet.

Objective:
Introduce and understand the Debit and Credit method of accounting and the preparation of the trial balance, income statement and balance sheet.

   



 
  A



=
LIAB

+
SE

_________________  
  __________
  _________

Cash
  +
Inv.

=
Note

+
Pic

______________________________________________

(1) Initial Invest-

+100







   +100

ment by owner

(2) Loan from bank

+300




+300

(3)
Purchased inv.

-200

+200

The above shown in T-accounts as follows:

Assets



   =


Liabilities +

          Stockholder's Equity

/-----------------------------\    
/----------------------------\

Cash






   Note Payable

_________________________________
_________________________________

Increase

| Decrease



Decrease

| Increase

(1) 100,000

| (3)  200,000




|(2)  300,000

(2) 300,000

|

Inventory 





Paid-in-Capital

____________________________


_________________________________

Increase

| Decrease



Decrease

| Increase

(3) 200,000
|








| (1) 100,000

Analysis from a T account by a ledger entry:

1.
Transaction:
Initial investment, $100,0000

Analysis:
The asset CASH is increased.

The stockholder's equity PAID-IN-CAPITAL

Entry:

  Cash






Paid-in-Capital

__________________________

__________________________________

(1)
100,000 |







| (1)  100,000

2.
Transaction:
Loan from bank, $300,000

Analysis:
The asset CASH increased.

The liability note payable increased.

Entry:

  Cash






Note Payable

__________________________

_________________________________

(1)
100,000 |







| (2)  300,000

(2)
300,000 |







|

3.
Transaction:
Acquired inventory for cash, $200,000.

Analysis:
The asset Cash decreased.

The asset Inventory increased.

Entry:

  Cash






__________________________



(1)
100,000 |(3)  200,000






(2) 
300,000 |






Inventory

__________________________

(3)  200,000 |


4.
Analysis:
The asset INVENTORY is increased.

The liability ACCOUNTS PAYABLE is increased.

Entry:

  Inventory



20,000

Accounts Payable


20,000

5.
Analysis:
The asset EQUIPMENT is increased.

The asset CASH is decreased.


The liability ACCOUNTS PAYABLE is increased.

Entry:  

Equipment



15,000

Cash





 


5,000

Accounts Payable




10,000

6.
Analysis:
The asset CASH is increased.

The asset EQUIPMENT is decreased.

Entry:

  Cash




 2,000

Equipment




 2,000

7.
Analysis:
The liability ACCOUNTS PAYABLE is decreased.

The asset CASH is decreased.

Entry:

  Accounts Payable

 5,000

Cash





 5,000

8a.
Analysis:  The asset ACCOUNTS RECEIVABLE is increased.

 The stockholders' equity SALES is increased.

Entry:

    Account Receivable

40,000

Sales




40,000

8b.  Analysis:  The asset INVENTORY is decreased

The stockholders' equity is decreased by creating   negative stockholders' equity account, COST OF GOODS SOLD.

Entry:

    Cost of Goods Sold

5,000

Inventory




 5,000

9.  Analysis:  The asset CASH is decreased.

The asset PREPAID RENT is increased.

Entry:

    Prepaid Rent


12,000

Cash





12,000

10.  Analysis:  The asset PREPAID RENT is decreased.

 
 The negative stockholders equity RENT EXPENSE is increased.

Entry:

    Rent Expense


 2,000

Prepaid Rent



 2,000

11.
Analysis:
The asset-reduction account ACCUMULATED DEPRECIATION, EQUIPMENT is increased.

The negative stockholders' equity DEPRECIATION EXPENSE is increased.

Depreciation Expense

1000

Accumulated Depreciation - Equip.
1000

ASSETS

=

LIABILITIES AND SE

   CASH




  PAID-IN-CAPITAL

______________________________
_____________________________

(1)  100

|(3)  200




   |(1)  100

(2)  300

|





   |

|





   |

|





   |

|





   |

          INVENTORY




NOTE PAYABLE

______________________________
_____________________________

(3)  200

|





   |(2)  300

(4)   20

|





   |

|





   |

     EQUIPMENT




ACCOUNTS PAYABLE

______________________________
_____________________________

|





   |

|





   |

    
|





   |

ACCOUNTS RECEIVABLE




SALES

______________________________
_____________________________

|





   |

|





   |

|





   |

  
    PREPAID RENT



COST OF GOODS SOLD

______________________________
_____________________________

|





   |

|





   |

|





   |

ACCUMULATED DEPR., EQUIPMENT


RENT EXPENSE

______________________________
_____________________________

|





   |

|





   |

|





   |

DEPRECIATION EXPENSE
   

    
 







_____________________________

   







  




|

|

|

   CASH



  PAID-IN-CAPITAL

______________________________
_____________________________

(1)  100

|(3)  200




   |(1)  100

(2)  300

|(5)    5




   |

(6)     2      |(7)    5




   |

|(9)   12




   |

_______________|______________

   |

     180

|





   |

          INVENTORY




NOTE PAYABLE

______________________________
_____________________________

(3)  200

|(8b)   5





|(2)  300

(4)   20_______|____________

   

|

     215

|






| 

     EQUIPMENT




ACCOUNTS PAYABLE

______________________________
_____________________________

(5)   15

|(6)   2



(7)   5 |(4)  20

|





   |(5)  10

_______________|______________
______________________

 13

|





   |     25

ACCOUNTS RECEIVABLE



SALES

______________________________
_____________________________

(8a)  40

|





   |(8a) 40

|





   |

PREPAID RENT



COST OF GOODS SOLD

_____________________________
_____________________________

(9)   12
|(10)   2

        (8b)  
5 
|
       


__________|______________



  
|

      10  |





   

|

ACCUMULATED DEPR., EQUIPMENT

RENT EXPENSE

______________________________
_____________________________

|(11)   1
 



(10)  2 
|

|







|

|


DEPRECIATION EXPENSE
   

    










_____________________________

   



(11)  1
   
|


SPURLIN'S BOOKS, INC.


Trial Balance


August 31, 1992

DEBITS


CREDITS

Cash






180,000

Inventory





215,000

Equipment




 
13,000

Accumulated Depreciation

  Equipment






  


1,000

Accounts Receivable


 
40,000

Prepaid Rent



 
10,000

Paid-in-Capital








100,000

Note Payable









300,000

Accounts Payable





 


25,000

Sales







 


40,000

Cost of Goods Sold


  

5,000

Rent Expense



  

2,000

Depreciation Expense




1,000


_______

Total





466,000


466,000

CONTINUED SOLUTION TO HANDOUT 3-1


SPURLIN'S BOOKS, INC.


INCOME STATEMENT


FOR THE MONTH ENDED AUGUST 31, 1992

SALES







$40,000

LESS: EXPENSES

COST OF GOODS SOLD


5,000

RENT EXPENSE



2,000

DEPRECIATION EXPENSE

1,000
TOTAL EXPENSES




  8,000
NET INCOME






$32,000

SPURLIN'S BOOKS, INC.


STATEMENT OF RETAINED EARNINGS


FOR THE MONTH ENDED AUGUST 31, 1992

RETAINED EARNINGS, JULY 31, 1992



$         0

NET INCOME FOR AUGUST




 32,000
TOTAL






$32,000

DIVIDENDS







       0
RETAINED EARNINGS, AUGUST 31, 1992


$32,000

CONTINUED SOLUTIONS HANDOUT 3-1


SPURLIN'S BOOKS, INC.


BALANCE SHEET


AUGUST 31, 1992

ASSETS

CASH






$180,000

ACCOUNTS RECEIVABLE



    40,000

INVENTORY




  215,000

PRE-PAID RENT




   
10,000

EQUIPMENT



13,000

LESS:

 ACC. DEP




 1,000

   12,000
TOTAL ASSETS





$457,000
LIABILITIES AND STOCKHOLDERS' EQUITY

LIABILITIES

ACCOUNTS PAYABLE




$ 25,000

NOTES PAYABLE





 300,000
TOTAL LIABILITIES





$325,000

PIC



$100,000

RETAIN INC
  
 
    32,000
TOTAL STOCKHOLDERS

EQUITY





 132,000
TOTAL LIABILITIES &

EQUITY STOCKHOLDERS'



$457,000

HANDOUTS FOR CHAPTER FOUR

HANDOUT 4-1
On January 1, 19x1 Perry's Electronics, Inc.  purchased four (4) months of advertising from Dallas Observer, Inc for $8,000.

Required:
1.  Journalize the January and February transactions for Perry.

2.  Journalize the January and February transactions for Dallas Observer.

Objective:
Illustrate the adjusting entries: expiration of unrecorded costs and the earning of unrecorded revenues.


SOLUTION TO HANDOUT 4-1
Balance sheet equation analysis:

Entries for Perry





A

=
L
+
Se




_______________
     _______________________




Cash
   Prepaid


      Adv. Exp.





   Ads

a.
Prepaid four months of

-8,000

+8,000

  advertisement.

b.
January adjustment




-2,000




-2,000

c.
February adjustment




-2,000




-2,000

d.
March adjustment




-2,000




-2,000

____________________________________________________________________

Journal entries:

a.
Prepaid advertising


8,000

Cash





8,000

b.
Advertising expense (Jan)

2,000



Prepaid advertising



2,000

c.
Advertising expense (Feb)

2,000

Prepaid advertising



2,000

d.
Advertising expense (Mar)

2,000

Prepaid advertising



2,000


CONTINUED SOLUTION TO HANDOUT 4-1
Balance sheet equation analysis:

      Perry's










Dallas

          A

=
L
+
SE

  
 A
   =
   L
   +
    
SE

________________
       ______________________

_______
_____________________

Cash
Prepaid



Ad. Exp

Cash

Unearned 

Adv. 

Ads










Adv. Rev.

Rev.

a. Prepaid four months of


-8,000
+8,000







+8,000

+8,000

  advertisement.

b.
January adjustment



-2,000




-2,000




-2,000

+2,000

c.
February adjustment



-2,000




-2,000




-2,000

+2,000

d.
March adjustment



-2,000




-2,000




-2,000

+2,000

Journal Entries

Perry






Dallas

a.
Prepaid advertising


8,000



Cash


8,000

Cash




8,000


Unrd Adv. Rev.


8,000

b.
Advertising expense (Jan)

2,000



Unearned Adv. Rev.

2,000

Prepaid adverting



2,000


Adv. Rev.




2,000

c.
Advertising expense (Feb)

2,000



Unearned Adv. Rev.

2,000

Prepaid adverting



2,000


Adv. Rev.




2,000

d.
Advertising expense (Mar)

2,000



Unearned Adv. Rev.

2,000

Prepaid adverting



2,000


Adv. Rev.




2,000


HANDOUT 4-2
Consider the following calendar for September 19x3:

September


S
M
T
W
Th
F
S




1
2
3
4
5

         



6
7
8
9
10
11
12


13
14
15
16
17
18
19


20
21
22
23
24
25
26


27
28
29
30

Carries' Hot Dogs, Inc. pays its employees on Monday for services rendered during the previous week.  The employees only work Monday through Friday.  Total payroll per day is $1,500. 

Required: 

1.
Prepare the journal entry for wages paid on September 14, 21, and 28.

2.
Prepare the adjusting journal entry for wage on September 30.

Objective:  Illustrate the journal entry necessary for the accrual of unrecorded expenses.


SOLUTION TO HANDOUT 4-2
Sept. 14
Payroll expense




7,500

Cash






7,500

Paid payroll for the week of September 7-11.

Sept. 21
Payroll expense




7,500

Cash






7,500

Paid payroll for the week of September 14-18.

Sept. 28
Payroll expense




7,500

Cash






7,500

Paid payroll for the week of September 21-25.

Sept. 30
Payroll expense




4,500

Accrued payroll payable

4,500

Accrued payroll for the period of September 28-30.


HANDOUT 4-3
Gate's Garage, Inc. borrowed $200,000 from Bank-One, Inc. on January 1, 19x1.  Assume that the principal and interest on the one-year loan are payable on December 31, 19x1 with an annual interest rate of 5%.

Required:
1.
Record January journal entries for the for the above loan for Gate's Garage.

2.
Record the January interest revenue earned by Bank-One.

Objective:
Illustrate journal entries for the accrual of  unrecorded expenses and unrecorded revenues.


SOLUTION TO HANDOUT 4-3
Gate's entries.

Jan. 1

Cash

200,000

Note Payable

200,000

Calculate interest for January:

1/12 * 5% * 200,000 = 833.33

Jan 31.
Interest Expense
833.33

Accrued interest payable
833.33

Bank-One's entry.

Jan.1

Note Receivable




200,000


Cash

200,000

Jan. 31.
Accrued interest receivable
833.33

Interest Revenue


833.33


HANDOUT 4-4
During September of 1992, my law office rendered services of $2,000 which would not be billed until October of 1992.  I am in the process of preparing my financial statements for September of 1992.

Required:

1.
Using the balance sheet equation, analyze the above adjustment.

2.
Prepare the journal entry for the above adjustment.

Objective:  Illustrate the journal entry for accrual of unrecorded revenues.


SOLUTION TO HANDOUT 4-4

A
=

L

+
SE

_________________

_______________________________

Accrued fees





Fee Rev

Adjust for  fees earned
+2,000





+2,000


Journal entry:

Accrued fees receivable
2,000

Fee Revenue

2,000


HANDOUT 4-5

Roger Campos, Inc.


Balance Sheet


September 30, 1992

ASSETS

Current Assets:

Cash






$ 5,000

Accounts Receivable




2,000

Inventories





4,500


Prepaid Expenses




    3,000
 
  Total current assets:


   

14,500

Property & Equipment - less accumulated



 20,000
deprecation of $50,000

Total:




 

 $34,500
LIABILITIES AND STOCKHOLDERS' EQUITY

Current Liabilities:

Accounts Payable





$1,000

Notes Payable




 

2,000

Accrued Liabilities





 1,000
 Total current liabilities





4,000

Stockholders' Equity:

Paid-in-Capital


 
30,000

Retained income



    500
  Total stockholders' equity




 30,500
Total:






$34,500
Required:
Calculate the current ratio.

Objective:
Illustrate a classified balance sheet and the calculation of the current ratio.


SOLUTION TO HANDOUT 4-5
Current ratio
=


Current assets

=


14,500
=
3.625


Current liab.




 4,000


HANDOUT 4-6
Zachary's Bookstore, Inc. had the following events occur to his business:

1.
Net income was $5,000.

2.
Sales were $50,000.

3.
Cost of goods sold were $25,000.

4.
Stockholders' equity was $12,000 on January 1, 19x1.

5.
Stockholders' equity was $17,000 on December 31, 19x1.

Required:

1.
Calculate the gross profit percentage.

2.
Calculate the return on sales ratio.

3.
Calculate the return on shareholder's equity.

Objective:
Illustrate the calculation of financial ratios and their interpretation.


SOLUTION TO HANDOUT 4-6
1.
Gross profit
=
Sales 
-   Cost of goods sold

50,000   -  25,000   =  25,000

Gross profit %     =
Gross profit
=
25,000
=
50%

Sales



50,000


2.
Return on sales   =
Net Income
=
  5,000 
=
10%

Sales



50,000

3.
Return on SH equity  =          Net Income
=
        5,0000           
Avg. SH equity

(12,000 +17,000)/2

  5,000

=
34.48%

14,500

Handouts 4-7 and 4-8 illustrate the adjusting entries at the end of the accounting and the subsequent entry when the cash payment or receipt occurs.


HANDOUT 4-7
The Botchev Company pays its employees on the 15th of each month.  The total wages paid on the 15th of each month is $4,000.

a.
Record the accrued wages on December 31, 1991.

b.
Record the entry for the payment of wages on January 15, 1992.


SOLUTION TO HANDOUT 4-7
12/31 
Wage Expense


2,000

Wage Payable





2,000

1/15
Wage Expense


2,000

Wage Payable



2,000

Cash






4000


HANDOUT 4-8
Jack's Place Corporation sold merchandise inventory to its major customer for $50,000 on August 1, 1991.  Jack's accepted a note receivable whose principal and interest was payable on July 31, 1992.  The note bears an annual interest rate of 7.5%.

Required:
a.
Record the adjusting entry for December 31, 1991.

b.
Record the entry for July 31, 1992.


SOLUTION HANDOUT 4-8

.
Calculate 12 months interest:
50,000 X 7.5% = 3,750.00

Calculate interest for 5 months (Aug - Dec)

3,750.00 /12 X 5 = 1,562.50

12/31
Interest Receivable


1,562.50

Interest Income




1,562.50

Calculate 7 months interest (Jan - July)

3,750/12 X 7 = 2,187.50

7/31
Cash 



3,750.00

Interest Income




2,187.50

Interest Receivable




1,562.50


HANDOUTS FOR REVIEW


HANDOUT 1
On December 31, 1991, the Zuma Company declared a $50,000 dividend for its shareholders to be paid on January 20, 1992.

a.
Record the December 31, 1991 entry.

b.
Record the payment on January 20, 1992.


SOLUTION HANDOUT 1
a.
12/31/91
Dividends declared



50,000



Dividends payable




50,000

To record year-end declaration of dividends.

b.
1/20/92
Dividends payable



50,000

Cash






50,000


HANDOUT 2

COMPREHENSIVE REVIEW PROBLEM

CHRISTY PANTYHOSE, INC.


UNADJUSTED TRIAL BALANCE


DECEMBER 31, 1993


DEBIT


CREDIT

CASH



$100,000

A/R



50,000

SALES





200,000

COST OF GOODS

75,000

A/P






30,000

PREPAID RENT

8,000

NOTE PAYABLE




100,000

EQUIPMENT

800,000

WAGE EXPENSE

45,000

MISC. EXPENSES

35,000

ACC. DEPR.





100,000

PIC






50,000

R/E






693,000

INVENTORY

50,000

INS. EXP


   10,000


                   


$1,173,000


$1,173,000

The following additional information is not reflected in the trial balance:

a.
The note payable interest rate is 12% per year.  Interest for 12 months is paid on November of each year.

b.
Wages accrued but unpaid, $10,000.

c.
Prepaid rent expired, $2,000.

d.
Depreciation, $50,000.

e.
Dividends declared but unpaid were $30,000.

f.
Financial statements are prepared monthly.

Required:

1.
After posting the above balances to T-accounts, analyze and journalize all entries arising from the description in a through e above.  Use new accounts as necessary.

2.
Post your journal entries to T-accounts.  

    
3.
Prepare an adjusted trial balance, December 31, 1993.

4.
Prepare an income statement, statement of retained earnings, and balance sheet.

5.
Prepare and post the closing journal entries to the accounts.

6.
Prepare a post-closing trial balance.


SOLUTIONS TO COMPREHENSIVE PROBLEMS - HANDOUT 2
CASH


A/R



SALES

COGS

---------------------
--------------------------

-------------------------
---------------------------

|


|



|


|

|


|



|


|

|


|



|


|

|


|



|


|

|


|



|


|

A/P

PREPAID RENT


N/P


EQUIP

---------------------
--------------------------

-------------------------
---------------------------

|


|



|


|

|


|



|


|

|


|



|


|

|


|



|


|

WAGE EXP

MISC. EXP.


ACC. DEPR.


PIC

---------------------
--------------------------

-------------------------
---------------------------

|


|



|


|

|


|



|


|

|


|



|


|

|


|



|


|

R/E


IN


INS EXP.

---------------------
--------------------------

-------------------------
---------------------------

|


|



|


|

|


|



|


|

|


|



|


|

|


|



|


|

---------------------
--------------------------

-------------------------
---------------------------

|


|



|


|

|


|



|


|

|


|



|


|

|


|



|


|

|


|



|


|

---------------------
--------------------------

-------------------------
---------------------------

|


|



|


|

|


|



|


|

|


|



|


|

|


|



|


|

CONTINUED SOLUTIONS TO HANDOUT 2
2.
 JOURNAL ENTRIES

a.
Calculate interest:


100,000 X 12% = 12,000 / 12 = 1,000

Interest Expense

1,000

Interest Payable


1,000

b.
Wages Expense

10,000

Wages Payable


10,000

c.
Rent Expense

2,000

Prepaid Rent


2,000

d.
Depreciation EXP

50,000

ACC. Depr.


50,000

e.
Dividend Declared

30,000

Dividend Pay.


30,000



SOLUTIONS TO COMPREHENSIVE PROBLEMS - HANDOUT 2
CASH


A/R


SALES

COGS

---------------------
--------------------------

-------------------------
---------------------------

100
|

50
|



|
200
75
|

|


|



|


|

|


|



|


|

|


|



|


|

|


|



|


|

A/P

PREPAID RENT


N/P


EQUIP

---------------------
--------------------------

-------------------------
---------------------------

|
30
8
|
2   (c)


|
100
800
|

|


|



|


|

|


|



|


|

|


|



|


|

WAGE EXP

MISC. EXP.


ACC. DEPR.


PIC

---------------------
--------------------------

-------------------------
---------------------------

45
|

35
|



|
100

|
50

10  (b)
|


|



|
  50 (d)

|

______
|_______

|


________|________

|

55
|


|



|
150

|

R/E


IN



INS EXP.

INT. EXP

---------------------
--------------------------

-------------------------
---------------------------

|
693
50
|


10
|

1 (a)
|

|


|



|


|

|


|



|


|

|


|



|


|

INT. PAY

WAGE PAY


DEPR. EXP.

DIV.DECLARED

---------------------
--------------------------

-------------------------
---------------------------

|
1  (a)

|
10  (b)

50  (d)
|

30  (e)
|

|


|



|


|

|


|



|


|

|


|



|


|

|


|



|


|

DIV. PAY.

RENT EXP

---------------------
-------------------------

|
30 (e)
2   (c)
|

|


|


CONTINUED SOLUTION HANDOUT 2

CHRISTY PANTYHOSE


ADJUSTED TRIAL BALANCE


DECEMBER 31, 1993

DEBIT




CREDIT

CASH



$100,000

A/R



50,000

SALES








200,000

COST OF GOODS

75,000

A/P








30,000

PREPAID RENT

6,000

NOTE PAYABLE






100,000

EQUIPMENT


800,000

WAGE EXPENSE

55,000

MISC. EXPENSES

35,000

ACC. DEPR.







150,000

PIC








50,000

R/E








693,000

INVENTORY


50,000

INS. EXP


   10,000

INT. EXP.


1,000

INT. PAY







1,000

WAGE PAY.







10,000

DEPR. EXP.


50,000

DIV. DECL.


30,000

DIV. PAY.

 





30,000

RENT EXP.


      2,000




                   

$1,264,000




$1,264,000




CONTINUED SOLUTION TO HANDOUT 2


CHRISTY PANTYHOSE, INC.


INCOME STATEMENT


FOR THE MONTH ENDED DECEMBER 31, 1993

Sales








$200

Less:
Cost of Goods Sold





  75


Gross Profit






125

Less: 
Operating Expenses

Wage Expense




$  55

Rent Expense




2

Ins. Exp




10

Misc. Exp.




35

Depreciation Expense



      50

      152



(   27)

Other Revenue and  Expenses

Less:
Interest Expense




         1

Net Loss







(  28)

CHRISTY PANTYHOSE, INC.


STATEMENT OF RETAINED EARNINGS


FOR THE MONTH ENDED, DECEMBER, 1993

Retained Income, December  1, 1993


$
       693

Net  Loss for December




 (      28)
Total







$    665

Dividends Declared






        30
Retained Income, December 31, 1993



$    635

CONTINUED SOLUTION TO HANDOUT 2


CHRISTY PANTYHOSE, INC.


BALANCE SHEET


DECEMBER 31, 1993

CURRENT ASSETS

CASH






100

A/R






50

PREPAID RENT




6

INVENTORY





50
TOTAL CURRENT ASSETS
206

LONG-TERM ASSETS

EQUIPMENT


800

LESS: A/D



150

650
TOTAL ASSETS



856
LIABILITIES AND STOCKHOLDERS' EQUITY

CURRENT LIABILITIES

A/P






30

INT. PAYABLE




1

DIV. PAY.





30

WAGE PAY.





10
TOTAL CURRENT LIAB.

71

LONG-TERM LIAB.







NOTE PAYABLE




100
TOTAL LIABILITIES
171

STOCKHOLDERS' EQUITY

PIC




50

R/E




635

685

TOTAL LIAB & STOCKHOLDERS' EQUITY
856

CONTINUED SOLUTION TO HANDOUT 2


CLOSING ENTRIES
a.
Transaction:
Clerical procedure of transferring the ending balances of revenue accounts to the Income Summary account.

Analysis:
The stockholder's equity accounts Sales are decreased.

The stockholder's equity account Income Summary is increased.

Sales

200

Income Summary
200

Sales




Income Summary

-----------------------------


----------------------------

200 (a)|
200




|
200 (a)

|





|


CONTINUED SOLUTIONS TO HANDOUT 2


CLOSING ENTRIES
b.
Transaction:
Clerical procedure of transferring the ending balances of expense accounts to the Income Summary account.

Analysis:
The negative stockholders' equity accounts Cost of Goods sold, Wages expenses, etc. are decreased.

The stockholders' equity account Income Summary is decreased.

Entry:

Income Summary

228

Cost of Goods Sold



75

Wages Exp.




55

Rent Expense




2

Depr. Exp.




50

Interest Exp.




1

Misc. Exp




35

Ins. Exp




10

Income Summary

COGS

Wage Exp.
Rent Exp

Depr. Exp

---------------------
-------------------
--------------
-----------------
--------.------

(b)228
|  200 (a)
75
| 75 
(b)
55
|55 (b)
   2
|  2 (b)
    50 |   50 (b)

|


|


|

|

|

Int Exp


Misc. Exp

Ins. Exp.

------------------

------------------
-
-------------------

1
|   1 (b)

35
|   35  (b)
 10
|   10  (b)

c.
Transaction:
Clerical procedure of transferring the ending balance of Income Summary account to the Retained Income account.

.

Entry:

Retained Earnings

28

Income Summary


28

Retained Earnings

Income Summary

------------------------

----------------------

28 (c)
|
693

228
|
200

|


--------
|------------

|


28
|
28  (c)

------------------------

d.
Transaction:
Clerical procedure of transferring the ending balance of Dividends Declared to the Retained Income account.

Analysis:
The negative stockholders' equity account Dividends Declared is decreased.

The stockholders' equity account Retained Income is decreased.

Entry:`
Retained Earnings

  30

Dividend Declared 


30

Retained Earnings

Dividend Decl.

------------------------

----------------------

28 (c)
|
693

30
|
30  (d)

30 (d)
|





-----------------------

|
635


HANDOUT 3
1.
On July 31, 1991,  West End Pub, Inc. incorrectly recorded rent expense of $4,000 to equipment.  On August 10, 1991, the error was discovered.

a.
Record the July entry.

b.
Record the correcting entry.

Objective:
Illustrate the journal entry necessary to correct a previously incorrect entry.


SOLUTION HANDOUT 3
a.
7/31/91

Equipment



4,000

Cash





4,000

b.
8/10/91

Rent Expense



4,000

Equipment




4,000


HANDOUT 4
Dallas Alley, Inc. gave me the following correct but incomplete information:

List of customers who owe money:

December 31, 1990

$5,000

December 31, 1991

 7,500

Cash collected from customers during 1991 was $245,000.   All sales were on account (i.e. original sold as an account receivable).

Required:
Calculate total sales for 1991.

Objective:
Calculate financial information with incomplete information.


SOLUTION HANDOUT 4
_______________________________________________________________

Bal. 12/31/90

5,000

|  Collections 
245,000

|

Sales


    S

|

_______________________________________________________________


Bal. 12/31/91

7,500

|

Total Debits = 5,000 + S

Total Credits  =   245,000

Total Debits - Total Credits = Balance 12/31/91

(5,000 + S)   -    245,000 =  7,500

S  =   7,500 +245,000 - 5,000

S = 247,500


HANDOUTS FOR CHAPTER FIVE


HANDOUT 5-1
On January 1, 1993, Bob's Camera sold $50,000 of inventory on account with the following terms 3/20,n/60.  

1.
Prepare the journal entry if the payment was received on January 15, 1993.

2.
Prepare the journal entry if the payment was received on February 20, 1993.

Objective:
Illustrate the journal entries for payment when a cash discount is accepted or rejected.


SOLUTION TO HANDOUT 5-1

1/15/93
Cash




$48,500

Cash Discounts on Sales

1,500

Accounts Receivable



$50,000

2/20/93
Cash




$50,000

Accounts Receivable



$50,000


HANDOUT 5-2
On December 20, 1992, Charle's Place sold $50,000 inventory on account.  This amount included $10,000 to David and $5,000 to Christy.

On February 5, 1993 it was discovered that David and Christy eloped and fled to Mexico.  They were never seen again.

1.
Prepare the journal entry for 12/20/92.

2.
Prepare the 2/5/93 entry.

Objective:
Illustrate the journal entries necessary when an accounts receivable is written-off as bad debt using the direct method.


SOLUTION TO HANDOUT 5-2
12/20/93
Accounts Receivable


$50,000

Sales




$50,000

2/5/93

Bad Debt Expense


$15,000

A/R - David




$10,000

A/R - Christy




5,000


HANDOUT 5-3
Based on past experience Ruiz, Inc. has discovered that her bad debts as a percentage of total credit sales had been 35%.   During 1992 Ruiz had credit sales of $200,000.

Required:
Prepare the allowance for bad debts as of 12/31/92.

Objective:
Calculate the allowance for bad debt and related journal entry using the percentage of total credit sales method.

SOLUTIONS TO HANDOUT 5-3

Calculate bad debt amount

35% X $200,000 = $70,000

12/31/92
Bad Debt Expense


$70,000

Allowance for Bad Debt


$70,000


HANDOUT 5-4
Billy Bob had the following balances in his accounts receivable and amounts of bad debts deemed uncollectible and written off:

A/r 




Bad Debts

At year end


1988


$280,000


$  40,000


1989

10,000




6,000


1990


500,000



4,000


1991


650,000



150,000


1992


750,000



10,000




2,190,000



210,000

Billy Bob's 1993 ending balances in the allowance account is $22,050 and in the accounts receivable account is $234,000.

Required:
Prepare the journal entry for 12/31/93.

Objective:
Illustrate the calculation of the bad debt expense and the preparation of the related journal entry using the percentage of ending accounts receivable method (This is one of the allowance methods). 


SOLUTION TO HANDOUT 5-4
Calculate the average balance in A/R:

$2,190,000 / 5 = $438,000

Calculate the average of Bad Debts:

$210,000 / 5 = $42,000

Calculate the percentage of A/R:

42,000 / 438,000 = 9.589

Calculate Bad Debt Expense:

9.589% X 234,000 = 22,438



22,438 - 22,050 = 388

12/31/93
Bad Debt Expense

$388

Allowance for Bad Debt


$388

HANDOUT 5-5

Robert's Foot Clinic, Inc had $125,000 balance in Accounts Receivable on December 31, 1992 which were aged as follows:

Name

Total

1-30

31-60

61-90

+90
Dace


$ 30,000





$ 20,000

$ 10,000

Joe


45,000

$ 10,000

$ 35,000

Others


50,000

35,000

5,000

2,000

8,000
  Total


$125,000

$ 45,000

$ 40,000

$ 22,000

$ 18,000
Historically Robert had the following results of bad debts:

1-30
5%

31-60
7%

61-90
12%

+90
95%

Required:
Prepare the 12/31/92 entry for bad debt allowances if the Allowance Account had a 12/31/92 ending balance of $500.

Objective:
Illustrate the calculation of bad debt expense and the related journal entry using the aging of accounts receivable method (This is one of the allowance methods). 

SOLUTION TO HANDOUT 5-5

Calculate amount of Bad Debt:

1-30
5% X $45,000    = 


$ 2,250

31-60  7% X  40,000     =     


2,800

61- 90 12% X 22,000     =  


2,640

+90 95% X 18,000         = 


17,100
Total               =


$24,790

Calculate amount of Bad Debt Expense:

$24,790 - 500 = $24,290

Entry:

12/31/92
Bad Debt Expense


$24,290

Allow. for Bad Debts


$24,290


HANDOUT 5-6

On March 21, 1993 the West End Pub, Inc. wrote off the uncollectible account of David Hall in the amount of $5,500.   In order to maintain his friendship with the owner and various other privileges David paid the entire debt on July 4, 1993.

Required:
Record all entries for above.

Objective:
Illustrate the journal entries for the write-off of a bad debt and the subsequent recovery of the debt


SOLUTIONS HANDOUT 5-6

3/21/93
Allowance for Bad Debts

$5,500

A/R - David Hall



$5,500

7/4/93

A/R - David Hall


$5,500

Allow. for Bad Debts


$5,500

7/4/93

Cash




$5,500

A/R - David Hall



$5,500


HANDOUT 5-7

K-mart 1993 credit sales were $300,000,000 and beginning and ending accounts receivable were $450,000 and 375,000 respectively

Required:
Calculate accounts receivable turnover and days to collect.

Objective:
Illustrate the calculation of the accounts receivable turnover ratio and the average days to collect the accounts receivable.


SOLUTION TO HANDOUT 5-7
A/R Turnover    =     Credit Sales / Avg A/r

3,000,000 / .5(450,000 + 375,000) = 3,000,000/412,500  =  7.2727

Days to Collect =   365/ A/R turnover

365 / 7.2727 = 50.2 days


HANDOUTS FOR CHAPTER SIX


HANDOUT 6-1


(example 1)

tc \l2 "HANDOUT 7-1
(example 1)
Objective:
Illustrate the journal entry for the sale of merchandise.

SALE INVENTORY FOR 10,000 WITH COST OF 5,000

A.
ACCOUNTS RECEIVABLE (CASH)

10,000

SALES






10,000

B.
COST OF GOODS SOLD


 
 5,000

INVENTORY





 5,000


HANDOUT 6-2tc \l2 "HANDOUT 7-2
Jimmy's perpetual inventory record indicated that he had the following information:

Black pantyhose
125 @ $25.22

$3,152.50

Year end physical count indicated that he had 101 units on hand.

Required:  Prepare the adjusting entry for the above shortage.

Objective:
Illustrate the journal entries under a perpetual system for an inventory shortage.

Total per accounting records


125 @ $25.22
$3,152.50



Total per count



101 @ $25.22
 2,547.22
Difference






$  605.28

Journal Entry:

Inventory shrinkage (Expense)

605.28

Merchandise Inv.




605.28


HANDOUT 6-3
Assume that in Handout 7-2 above his physical count indicated 135 units.

Required:
Prepare the adjusting entry for the above overage.

Objective:
Illustrate the journal entries under a perpetual system for an inventory shortage.

Total per accounting records
125 @ 
$25.22

$3,152.50

Total per count

135 @ 
$25.22

 3,404.70
Difference





   

252.20

Merchandise Inventory


252.20

Inventory Overage (Income)


252.20


HANDOUT 6-4
Assume Phil Prince, Inc. had beginning inventory of $10,000 on January 1, 1992.  On January 5, 1992 Phil purchased $90,000 of inventory on account.  On January 25, 1992, Phil returned $5,000 of inventory to the manufacture.  On January 30, 1992 Phil paid the creditor for the purchased inventory and received a cash discount of $15,000.

Required:
Prepare the journal entries for January.

Objective:
Illustrate the journal entries for a periodic inventory system with emphasis on those entries that are "Purchase Returns and Allowances" and "Cash Discounts on Purchases".


SOLUTION HANDOUT 6-4
1/5

Purchases



90,000

Accounts Payable



90,000

1/25

Accounts Payable


 5,000

Purchase returns and allow


5,000

1/30

Accounts Payable


85,000

Cash discounts on purchases


15,000

Cash





70,000

HANDOUT 6-5
I.  
Scott's Candy store had no beginning inventory.  During January the following inventory purchases happened:

1/3

Purchased 3 @ $20.00

1/10

Purchased 5 @ $21.00

1/14

Purchased 2 @ $25.00

1/20

Purchased 4 @ $26.00

At the end of January a physical inventory revealed 9 units on hand:

Required:

a.
Calculate ending inventory using FIFO, LIFO, and Weighted Average methods.

b.
Calculate Cost of Goods Sold using FIFO, LIFO, and Weighted Average.

II.  Continuing with the above. Scott had the following purchases during February:

2/6

Purchased 3 @ $28.00

2/19

Purchased 5 @ $30.00

At the end of February a physical inventory revealed  11 units on hand:

a.
Calculate ending inventory using FIFO, LIFO, and Weighted Average methods.

Objective:
Illustrate the calculation of ending inventory and the cost of goods sold using LIFO, FIFO, and weighted average inventory methods.


SOLUTIONS HANDOUT 6-5
I.a.
FIFO


4 @   $26.00
=

$104.00

2 @    25.00
=
  
50.00

3 @    21.00
=

  63.00
Ending Inv.

9



$217.00

LIFO


3 @

$20.00
=
$ 60.00

5 @

21.00

 105.00

1 @

25.00

  25.00
Ending Inv.

9




$190.00

WEIGHTED AVG
3 @ 20.00

=

$ 60.00

5 @ 21.00

=
 
105.00

2 @ 25.00

=
  
50.00

4 @ 26.00

=

 104.00
Total Avail.  

14




$319.00

Total available cost/ Total units cost

$319/14 =  $22.79

$22.79 X 9 =
205.11

b.
FIFO

3 @ 20.00


=

$60.00

2 @ 21.00


=

42.00
COGS



=

$102.00

LIFO

4 @ 26.00


=

$104.00

1 @ 25.00


=

25.00
COGS



=

129.00

WIEGHTED AVG

$22.79 X 5


=

$113.95


CONTINUED SOLUTION TO HANDOUT 6-5
II.
FIFO

5 @ 30.00


=

$150.00

3 @ 28.00


=
 
 84.00

3 @ 26.00


=

  78.00
Ending
11





$312.00

LIFO
3 @ 20.00


=

$ 60.00

5 @ 21.00


=

 105.00

1@ 25.00


=
 
 25.00

2 @ 28.00


=

  56.00
Ending
11





$246.00

Weighted Avg
Beg. Inv
9 @ 22.79

=
205.11

2/6

3 @ 28.00

=
 84.00

2/19

5 @ 30.00

=
150.00

Total Available
    
17




439.11

439.11/17 =$25.83

Ending Inventory $25.83 X 11 = $284.13


HANDOUT 6-6
The West End Pub, Inc. average gross profit percentage is 19%.  The company had Gross sales of $50,000 for January.   Beginning inventory of $2,500.  Purchases 45,000.

Required:
Calculate the cost of goods sold and ending inventory for January.

Objective:
Estimating cost of goods sold and ending inventory using the gross profit percentage


SOLUTION TO HANDOUT 6-6
Net sales - Cost of goods sold = gross profit

S
-
COGS


=
GP

Sales X Gross Profit % = Gross Profit

50,000 X 19% = 9,500

50,000 - CGS = 9,500

CGS = 50,000 - 9,500 = 40,500

Cost of Goods Sold = Beg. inv. + Net purchases - Ending inv.

CGS


=  BI
+

NP

  -
EI

40,500

=  2,500

+  45,000
- 
EI

EI = 2,500 + 45,000 - 40,500
 =

7,000


HANDOUT 6-7
Pete's Car Place, Inc.  Overstated ending inventory by 5,000 for January 1992.

Required:.
What effect did this have on COGS,  Net Income, and retained income for January and February 1992.

Objective:
Show effect of inventory errors on the cost of goods sold, net income, and retained earnings.


SOLUTIONS TO HANDOUT 6-7
January:
COGS


Understated
5,000

Net Income

Overstated
5,000

Retained Income
Overstate 
5,000

February:
COGS


Overstated
5,000

Net Income

Understated
5,000

Retained income - correct amount because the error is counter balanced


HANDOUTS FOR CHAPTER SEVEN


HANDOUT 7-1
Barry's Camera purchased the following long-term assets for $1,250,000:

Land1


FMV = $450,000

Land2


FMV = $200,000

Building1

FMV = $590,000

Building2

FMV = $200,000

Building3

FMV = $125,000

Required:  
Allocate the cost among the purchased assets.

Objective:
Illustrate the allocation of the purchase price for a basket purchase.


SOLUTION 7-1
1

2


3


2 X 3
FMV

Weighing

Amount to

Allocated



Allocate

Amount

Land1

450,000
450/1565

1,250,000

 359,425

Land2

200,000
200/1565

1,250,000

 159,744

Build1

590,000
590/1565

1,250,000

 471,246

Build2

200,000
200/1565

1,250,000

 159,744

Build3

125,000
125/1565

1,250,000

  99,841


HANDOUT 7-2
Robert's Drive Inn, Inc. purchased a truck for $37,000.   It's estimated useful life is 5 years.  It's estimated useful mileage is 300,000.  Its residual value is $2,000.  The truck was driven 50,000 miles during 19Y1.

Required:
Compute the depreciation expense for the following methods:

a.
straight-line,

b.
units of production,

c.
double-declining-balance,

d.
sum-of-the-years.

Objective:
Illustrate the calculation of depreciation expense using the above four methods.


SOLUTION TO HANDOUT 7-2
a.
37,000 - 2,000  =  7,000 / year

   5 years

b.
37,000 - 2,000  =    .12/per mile   X 50,000 (miles used during Y1) = $6,000

 300,000 units


CONTINUED SOLUTION HANDOUT 7-2

c.
100% / 5 =  20% X 2 = 40%

Y1  (37,000) X 40% = $14,800

Y2
(37,000 - 14,800) X 40% = 8,880

Y3
(37,000 - 14,800 - 8,880) X 40% = 5,328

Y4
(37,000 - 14,800 -8,880 - 5,328) x 40% = 3,197

Y5
(37,000 - 14,800 - 8,880 - 5,328 -3,197) X 40 % = 1,918

d.
Sums of the years = 1+2+3+4+5 = 15

Y1
(37,000 - 2,000) X 5/15 = 11,667

Y2
(37,000 - 2,000) X 4/15 = 9,333

Y3
(37,000 - 2,000) X 3/15 = 7,000

Y4
(37,000 - 2,000) X 2/15 = 4,667

Y5
(37,000 - 2,000) X 1/15 = 2,333


HANDOUT 7-3

Example 
Objective:
Illustrate the impact, if any, that deprecation expense  has upon a business' cash account.

Assume 40% tax rate

Income before depreciation and taxes is $100,000.

Straight line deprecation is $10,000

Double declining balance is $20,000.

Show effect

STRAIGHT LINE:


100,000



100,000


-10,000



 36,000




 
64,000
cash left


90,000


36,000
tax


54,000
DOUBLE DECLINING:


100,000



100,000


-20,000



 32,000





 68,000
cash left


80,000


32,000
tax


48,000

HANDOUT 7-4
Mark purchased an office table for $10,000 whose useful life was estimated to be 4 years.  Its residual value was $2,000.

Required:  Using the straight-line method, compute the deprecation expense for the first 3 years.

Assume further that at the beginning of year 4, Mark's engineers discovered that the assets will have a useful life of 7 years with a residual value of $3,000.

Required:
Compute the deprecation expense for year 4.

Objective:
Illustrate how the calculation of the depreciation for asset will be revised if there is a change in estimate (useful life and/or salvage value).


SOLUTION TO HANDOUT 7-4
(10,000 - 2,000)/4 = 2000/yr

Y1 = 2,000

Y2 = 2,000

Y3 = 2,000

Net B.V. = 10,000 - 3(2000) = 
4,000

Less residual value:


3,000
Revised Depreciable amount

1,000

1,000 / 4 = 250/ year


HANDOUT 7-5
Joe's Pizza, Inc. purchased a truck for $37,000 on March 1, 19x1.   It's estimated useful life is 5 years.  Its residual value is $2,000.

Required:  Compute the assets deprecation expense using the straight line method.

Objective:
Calculate the depreciation expense for an asset purchased during the mid year.


SOLUTIONS TO HANDOUT 7-5
12 mo.

Depr for 




Allocation to each year

12 months

19x1

19x2
19x3
19x4
19x5
19x6

1

(37 - 2) / 5 

5,833
1,167

7,000

2

(37 - 2) / 5 



5,833
1,167

7,000

3

(37 - 2) / 5 =



5,833
1,167


7,000

4

7,000





5833

1167

5

7,000







5833

1167


Total



5833
7000
7000
7000

7000

1167



HANDOUT 7-6
Keith's Bakery purchased a stove for $11,000 on January 1, 19x1.  Its useful life was 5 years and its residual value was $1,000.

At the beginning of year 3, Keith added capital expenditures of $4,000 which will add 3 additional years to the equipment's useful life.

Required:
Calculate deprecation expense for the above.

Objective:
Illustrate  how the calculation of depreciation expense is changed by a capital improvement.


 SOLUTION TO HANDOUT 7-6
(11,000 - 1000)/5 = 2000 - Depreciation per year

Calculate B. V.:

Cost:


11,000

Less prior depr.

-2,000


-2,000

Plus cost


+4,000

Revised value


11,000

Less new Salvage


-1,000
Amount to Depreciate

10,000

Remaining years
/6 =

1,667



HANDOUT 7-7
Linda's Donut Shop on December 31, 19x1 sold office equipment whose cost was $50,000 and accumulated deprecation was $40,000 for $20,000.

Required:
a.
Calculate the gain or loss from disposition of the assets and prepare the journal entries.

b
Assume the Dave sold the equipment for $2,000, calculate the gain or loss from disposition of the assets and prepare the journal entries.

Objective:
Calculation of the gain and loss on the disposition of a long-term asset and the associated journal entries.


SOLUTION TO HANDOUT 7-7

Cost:
50,000

Acc Dep:
40,000
B.V.:
10,000

a.
Sales - B.V.

20,000 - 10,000 = 10,000 Gain

Cash


20,000

Acc. Depr.

40,000

Gain on Sale of Asset


10,000

Office Equipment


50,000

b.
Sales - B.V.

2,000 - 10,000 = -8,000

Cash 


 2,000

Acc. Depr.


40,000

Loss on Sale 


 8,000

Office Equipment


50,000


HANDOUT 7-8

Required:
Refer to Handout 7-5; everything remains the same except use double declining balance.

Objective:
Calculate the depreciation expense for an asset purchased during the mid year.


SOLUTION TO HANDOUT 7-8
Year

Depr for 




Allocation to each year

12 months

19x1
19x2
19x3
19x4
19x5
19x6

1

14,800

12,333
2,467

2

8,880 



7,400
1,480

3

5,328




4,440
888


4

3,197





2,664
523

5

1,918






1,598
320


Total



12,333
9,867
5920
3552
2121
320


HANDOUTS FOR CHAPTER TEN


HANDOUT 10-1
West End Pub, Inc.'s cash balance on December 31, 19x2, was $165, and net income for 19x3 was $28.  Its 19x3 transactions affecting income are cash were:

a.
Sales of $1,400, all on credit.  Cash collections from customers, $1,450.

b.
Cost of items sold, $900.  Purchases of inventory total $900; inventory and accounts payable were affected accordingly.

c.
Cash payments on trade accounts payable, $925.

d.
Salaries and wages: accrued, $150; paid in cash $190.

e.
Deprecation $89.

f.
Other expenses, all paid in cash, $200.

g.
Interest expense all paid in cash, $12.

h.
Income taxes accrued, $20; income taxes paid in cash, $25.

i.
Bought plant and facilities for $295.

j.
Issued long-term debt for $120 cash

k.
Paid cash dividends of $30.

Required:  Prepare the statement of cash flows.

Objective:
Identify the relationship of various transactions with regard to the statement of cash flows and the preparation thereof.


SOLUTION TO HANDOUT 10-1


West End Pub, Inc.


Statement of Cash Flows


For the Year Ended December 31, 19X3

Cash flows from operating activities:






Cash collections for customers




$1,450 

Cash payments:

To suppliers




$(925)

To employees




(190)

For other expenses



(200)

For interest




( 12)

For income taxes



  ( 25)
Cash disbursed for operating activities



 (1,352)
Net Cash provided by operating activities


        98 

Cash flows from investing activities:

Purchases of plant and facilities




(  295)

Cash flows from financing activities:

Issue long-term debt




120 

Paid dividends




(  30)
Net cash provided by financing activities


       90 
Net decrease in cash







(  107)

Balance, cash and cash equivalents, December 31, 19x2


      165 
Balance, cash and cash equivalents, December 31, 19x3


        58 

HANDOUT 10-2
West End Pub, Inc. had the following income and balance sheet:

INCOME STATEMENT 19X6

Sales







$316

COGS







      154
Gross Profit






162

Salaries




$   82

Depreciation




40

Cash operating expenses


15

Interest




      2

      139
Income before taxes





23

Income Taxes






          8

Net Income






$       15
BALANCE SHEET:

DECEMBER 31


19X6
19X5


INCREASE






(DECREASE)

Cash and Cash equivalents


$ 97

$   5

$  92

A/R





40

95

(55)

Inventories




57

62

(5)
Total current assets


194

162

32

Fixed assets, net



190

110

80
Total assets




$384

$272

$112
LIABILITIES AND STOCKHOLDERS; EQUITY

A/P





$ 21

$ 16

$  5

Interest payable



2

0

2

Long-term debt



100

0

100

Paid-in-capital




220

220

0

Retained income



41

36

5
Total liab. and SE



$384

$272

$112
Additional information: West End Pub paid a cash dividend of $10.  Also it purchased a computer for 125 paying cash and issuing long-term debt of $100.  Several old tables were sold for cash equal to their book value of $5.

Prepares statement of cash flows.  Use the direct and indirect method.

Objective:
Preparing the statement of cash flows using only the income statement and balance sheet.


SOLUTION TO HANDOUT 10-2
Apply step:

1.
Operating activities

a.
Analyze collections from customers

Accounts Receivables

___________________________________

Beg.
95

|Cash collections = X

|

Sales
316

|

___________________________________

End
40

X = 371

Sales


316

+ Beg. A/R

   95
Potential collections

411

- Ending A/R

    40
Cash collections

  371

CONTINUED SOLUTION TO HANDOUT 10-2
b.
Analyze payment to suppliers

First calculate total purchases for inventory

Then calculate what portion of our purchases were paid in cash.

Beg Inv. + Purchases - End. Inv  = Cogs

62 + Purchases - 57 = 154

Purchases = 154 - 62 + 57

Purchases = 149

Accounts Payable

_________________________________________

Cash payment = X
|Beg.

16

|

|Pur.
     
149

_________________________________________

|End

21

X = 144

c.
Payment to operating expenses

15

d.
Payment for interest

Beg Int Pay 

 0

+ Int exp.

 2

- End Int Pay

-2
  Cash paid

 0

e.
Payment for taxes

8


CONTINUED SOLUTION TO HANDOUT 11-2
2.
Investing activities

a.
Analyze fixed assets

125 for purchases

5 for sales

3.
Financing activities

a.
Analyze long-term debt

100 for issue of long-term debt

b.
Analyze dividends

10 for cash dividends


CONTINUED SOLUTION TO HANDOUT 11-2

Preparation of cash flow statement from the analysis (direct method):


West End Pub, Inc.


Statement of Cash Flows 


For the Year Ended December 31, 19X6

Cash flows from operating activities

Cash collections from customers




$ 371 

Cash payments:

To supplies



$(144)

To employees



( 82)

For other expenses


( 15)

For income taxes


(  8)
  Cash disbursed for operating activities



(249)
Net cash provided by operating activities



$ 122 

Cash flows from investing activities:

Purchases of personal computers

$(125)

Proceeds form sale of tables


        5 
  Net cash used by investing activities



(120)

Cash flows from financing activities:

New issue of long-term debt

$ 100 

Payment of dividends


(  10)
  Net cash provided by financing activities



      90 
Net increase in cash







 92 

Balance, cash and cash equivalents, December 31, 19X5


          5 
Balance, cash and cash equivalents, December 31, 19X6


$        97

CONTINUED SOLUTION TO HANDOUT 11-2
Preparation of the statement of cash flows (indirect method):


WEST END PUB, INC.


Statement of Cash Flows


Indirect Method


For the Year Ended December 31, 19X6

Cash flows from operating activities

Net income







$  15

Adjustments to reconcile net income to net cash

provided by operating activities:

Add noncash expenses:

Depreciation



$  40

Add decreases in current assets:

Accounts receivable


55

Inventories



5

Add increase in current liabilities


Accounts payable


5

Interest payable


     2

  107
Net cash provided by operating activities

  122
